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Review

13. Rewrite each expression by eliminating parentheses and then combining like terms.
a.2+3x-4)@ b. (11 — 3x) — 2(4x + 5) c. 5.1 — 2.7[1 — (2x + 9.7)]

14. Solve each equation.
a. l2=06+ 2(x— 1) b. 27 =12 — 2(x + 2)

]

15. Charlotte and Emily measured the pulse rates of everyone in their class in beats per
minute and collected this set of data.

{62, 68, 68, 70, 74, 66, 82, 74, 76, 72, 70, 68, 80,
60, 84, 72, 66, 78, 70, 68, 66, 82, 76, 66, 66, 80}

a. What is the mean pulse rate for the class?
b. What is the standard deviation? What does this tell you?
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b. Solve y = —2.5 + 1.6x for x if y = 8.
c. Solve y = a — 0.2x for a if x = 1000 and y = —224.
d. Solve y = 250 + bx for b if x = 960 and y = 10.
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4, Find the equations of both lines in each graph.

a. r =g )C
Q4.2
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¢. What do the equa
their graphs? (@

d. What do the equations in 4b have in common? What do you notice about
their graphs?
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and 15.
1. Find the slope of the line containing each pair of points.

a. (3, —4) and (7, 2) (@ b. (5, 3) and (2, 5) c. (—0.02, 3.2) and (0.08, —2.3)
2MFind the slope of each | LIl AP N
Ind the slope ol each line. ~001 - 0‘@3 __-m
a.y = 3x — 2 b. y =42 — 2.8x c. y=53x—3)+2(

dy—24x=5 e. 4.7x + 3.2y = 12.9 foZy=2x+1

3. Solve each equation.

a. Solve y = 4.7 + 3.2x for y if x = 3. (@ (jlh%\ _ _?-3 - 3'-2 —;:S-

—— — b ]
™

b. Solve y = —2.5 + 1.6x for x if y = 8. 1,2._>/} - 0.0% - ~-0.0% N
c. Solve y = a — 0.2xfor a it x = 1000 and y = —224.

d. Solve y = 250 + bx for b if x = 960 and y = 10.

4. Find the equations of both lines in each graph.
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4. Find the equations of l:u:nth ines in ebt.h graph.
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c. Solve y =a — 0.2x for a if x = 1000 and y = —
d. Solve y = 250 + bx for b if x = 960 and y = 10.

. 4

c. What do the equations in 4a have in common? What do you notice about

their graphs? @
d. What do the equations in 4b have in common? What do you notice about
their graphs?
5. The equation of line m is y = —4 + 2.5x. Line [ is parallel to line m. Line n is

perpendicular to line m. What are the slopes of lines [ and n? (o)




